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61- I still don’t understand ...............
1) that book what was about. 2) that what was about book.
3) what that book was about. 4) what that was about book.
62- The teacher asked us ............... .
1) what did we see 2) what we saw 3) what do we see 4) what we see
63- My father spent more than 15 years ............... up his stamp collection.
1) build 2) built 3) to build 4) building
64- We ............... a barbecue tomorrow. It’s all planned. So | hope it won’t rain.
1) are going to have 2) were going to have 3) had to have 4) would have
65- Britain is one of the few countries where milk is delivered ............... to the doorsteps by milkmen.
1) unusually 2) skillfully 3) recently 4) daily
66- Will you ............... me on the chemistry I’ve been learning?
1) test 2) allow 3) choose 4) improve
67- Many football coaches believe that it’s ............... to have a goalkeeper as the captain of a football team.
1) unusual 2) harmful 3) relaxed 4) worried
68- We watched boys on skate boards ............... to keep their balance.
1) influence 2) struggle 3) observe 4) stay
69- In recent years, technological ............... have dramatically changed the way people work.
1) success 2) cases 3) observations 4) improvements
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70- The repair work on the south-bound lane of the motorway will ............... until June.
1) affect 2) continue 3) average 4) spend
71- A: “How often does your mother bake pizza?”
B e ."
1) She bakes it well 2) She is good at making pizza
3) l usually help my mom 4) Once a month
72- Which word has a different final “s” or “es” pronunciation?
1) teaches 2) finishes 3) foes 4) dishes

mm Cloze Test

It is possible that sleep plays an important role in health, but scientists are not yet ...(73)... what it
is. Some psychologists believe that it allows the brain to ...(74)... and store information. However, it is
difficult for scientists to study sleep effectively because they have no way to ...(75)... exactly what is
going through a person’s head while he or she is asleep. ...(76)... people remember afterward may not
be accurate or complete. However, in recent years ...(77)... have been carried out with new technology

that has made it possible to learn a great deal more about sleep.

73- 1) certain 2) simple 3) average 4) recent
74- 1) worry 2) improve 3) choose 4) relax
75- 1) find out 2) bring 3) care about 4) observe
76- 1) Who 2) Why 3) What 4) Whose
77- 1) successes 2) experiments 3) improvements 4) viewers

mm Reading Comprehension

In the 1950s, when television was new, it seemed to bring families together. More than 50 years
later, psychologists have a very different view of the effects of television. Many studies show that it
can influence family life in quite negative ways. In fact, television stops most communication among
family members. When families watch the television news during dinner, for example, their attention
is on the television screen. They do not talk about the events of their day or about their problems or
feelings. This lack of interaction may mean that there are fewer arguments at the dinner table.
However, according to psychologists, arguments are better than no interaction at all in the family. The
lack of interaction can lead to serious problems, including parent-child conflict, difficulty at school,

and divorce.
78- What is the passage mainly about?
1) Children who watch TV may have problems at school.
2) Some people today watch a lot of TV every day.
3) TV has negative effects on family life.
4) TV has no effect on family life.
79- According to the passage, psychologists believe that ............... .
1) TV prevents family members from expressing their thoughts and feelings
2) TV can improve family members’ interaction
3) TV can improve family members’ argument
4) TV brings family together
80- What does the underlined word “conflict” mean?
1) influence 2) skill 3) struggle 4) effect
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